Note : Connect a probe (10:1) of the osilloscope or
the frequency counter to & lest poini

L Focus Bias Adjustment
Make the focus bias adjustment when replacing
and repairing the optical block.

(DC range)
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TPl (RF) =

TPZ (VREF)
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1) Connect an oscilloscope to the test points TPl
(RF) and TF2 (VREF).

2) Turn on the power swilch

3 Insert test disc TCD-T82 (YEDS-18) and play
back the second composition

4) Adjust SFR2 so that RF signal of the test point
TPl (RF) is MAX and CLEARREST.
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VOLT ATV : 05V
TIME DIV : lmS
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EYE PATTERN
must be CLEAR

Note : The current of the laser signal can be checked
with the voltages on both sides of RZ3 (100).
The difference for the specified value shown on
the lavel must be withim * G.0mA.
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Tracking Balance Adjustment
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Connect an oscilloscope to the test points TP3
(TE) and TP2 (VREF).

Turn on the power swilch

Insert test disc TCD-TB2 (YEDS- 18) and press
the PLAY button

Connect the intermediate point of SFR1 to TF2
(\REF).

Adjust SFR3 so that the waveform on the
oscilloscope is vertically symmetrical as shown
in the figure below.

After the adjustment is completed. remove the
connected lead wires from the terminals
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Tracking Gain Adjustment

A servo analyrer is necessary in order 1o
perform this adjustment exactly. However, this
gain has margin. so even if it is slightly off,
there is no problem. Therfore, do not perform
this adjustment.

Focus/ tracking gain determines the pick-up
follow - up (vertical and horizontal) relative to
mechanical noise and mechinical shock when
2-axis device operates However, as Lhese
reciprocate. the adjustment is at the point where
both are satisfied

VOLT/TNV : 20mV
TIME. DIV : ImS

When gain is raised the noise increases when
the Z-axis device opearaies.

When gain is lowered, it is more susceptible to
mechanical shock and skipping occurs more
easily.



